X727 73"7'01n 2,1x n"a 702

Rav Hunoh and - TOTY 92 KRR 912 29977 RK 71 291 R 29
Rav Yehudoh say, he is liable; certain and uncertain, certain prevails

Overview

The x7na cites the view of 11"1 and *"1 in a case where the M%7 claims that he is owed
money and the M> claims, ‘I am uncertain whether you lent me any money’, the rule
is that the m> is 21 to pay, since 7>7¥ 12 XA *12. Our MooIN reconciles the view
of 77 27 here with his rulings elsewhere.

nvoIN asks:
= INY 9N N7II2 29 AN (0987 HNnD M DY XM 91 0v) N199D NN NNIY NV VIHT NN

It is astounding! For in the beginning of 79577 NR naw W P15 where the mwn

rules' we divide the money, 981w 22K "7 said -
- 2NN 199 15300 NOSIND P13 91T 595 AT DMININ DN YIN DI 937 1%

This is the view of ©1921% (that y»1711°), however the 2°»5m say, ‘this is a great rule

in jurisprudence, 798277 199 199377 RO, This concludes the statement of 2X1w 11K ",

The X713 there explains -
= NIY 99N P112) 993 9N P19 3999N DY Y5 INN

What did Xmw %X "1 mean by saying this is a 9173 993, that even if the P11 says

your ox certainly caused the death, and the pst» says perhaps my ox caused it,
nevertheless we rule 7"vni7. We see that (21w %K) °"1 maintains that even by &nw1 *72 we do not
say 7°7¥ 13, but rather 7"vn7 (like 73m° '11"9), this contradicts what we say here that *" maintains
7Y 972 KA 012?!

mMooIN anticipates and rejects a possible solution:
= 5132494 N2IN 29X DNNI “DINNIDI NINT NINS 297 911D 1PN)

And one cannot say; that "9 here (who maintains 7*7v *72) is following ©15219,
and °"1 there is discussing the view according to the j129 —

mooIn rejects this solution:

! The case there is where an ox gored a pregnant cow and the fetus was found dead; it is uncertain whether it died due
to the goring, or it was spontaneously aborted prior to the goring. The mwn rules that the owner of the ox pays half
the value (by a 7v) of the fetus to the owner of the cow.
2 The owner of the cow is seeking compensation from the ox owner, the cow owner must prove that the ox killed the
fetus, otherwise he receives nothing.
3 The o511 maintain 7"v%7 not only by 121 72 or w1 XA, but even if Xaw WX 7121 >12 MR Proi.
4 See footnote # 7 (for a more detailed explanation).
5> The solution is that >" agrees with 012m10 (that 1P P02 ST 1Mn) and A7y *73, however there in P"2 he was
discussing the view of the 1127, that they maintain 7"v177 even by &»w1 *2, but *" does not agree with them.
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= 599 NPYWINDTI 2311 2133 129D 992 2NN DIIMNIDY INY
For if according to ©1520 a 92 claim is effective to collect everything, it should
also be effective according to the 3139 (to collect half) as I previously explained —

mooIn offers another reason to reject this solution:’
= 90191390 M9 RY ENMINNT NIIT NIDT 7992 5D N3N NINT T

And additionally since here by the case of 77°3 *» 171» there is no R11227 8797, so
o110 will not argue with the o°»om but he will agree that 7"yn1.

NID0IN answers:
- 104992 XYY 210 292 MHNT §21Y 2927 NN 297 NPT X XIN RPYTT 990 U

And one can say; that only specifically here (by 77°2 °2 71n) does "2 maintain

that n>7Y 592, since it is a ‘good’ 512 and ‘deficient’ Rnw —
= 11553 1990 1YINIY KDY OV NN KD PIMNNAY YTOY 2997 $19) 992 %N P %a) VAN

However regarding the case in "2 the s'p11 claim of 992 is deficient, since he
knows that 5% was not there and will not contradict him therefore he claims
A -

= 2Ty Y92 INDT 0NN NN 29 NN TI9Y Y190 19 NN YW NN 2V 933 PO DY RNV
And the 82w of the p 1 is also a good claim for he could not have known since
he was not there, so therefore >''1 admits there that 592 is not 5°7¥ rather 7"vnn.

To summarize: *"7 maintains 7°7¥ *72 X2W1 *12 by a ¥173 Xaw1 1w °73, however by a Rnaw) 173 2
210 the rule is 7"vnn.

¢ See previous X% 11"7 'o1n [TIE footnote # 9].
7 The solution stated that >"1 agrees with 013110 that }12m Po02 Y0Inn 1y, therefore it follows that if a po0 can be ¥¥m
half, then &nw1 *12 can be ®°X 1 all. In order that a »32 should be able to be X2 all, we first need the P50 to give the
X°¥1m half. See footnote # 6 [and TIE there footnote # 6].
8 X1mn7 X117 (according to '0n) means that a doubt is created by the known facts regardless of the litigants claims.
The case of MW MW is a X1IMAT ®717; we know the cow was pregnant, we know the ox gored the cow, we know the
fetus is dead. There is an automatic doubt whether the ox killed the fetus or not. However by 77°2 *% fan the doubt is
created exclusively by the claims of the litigants, there is no doubt without their claims. 0190 rule of 1121 applies
(only) when there is a 81717 8717 otherwise he agrees that 7"y,
9 Once there is no X117 8717 and no 179, there is no reason to assume that 77y >12 (See footnote # 6).
10'See the first 79m 7"7 'on [TIE footnote # 6 & 7]. When the m>» claims, ‘you owe me money’, if he was lying he
knows that the m> will contradict him, therefore the fact that he is not concerned for a contradiction indicates that he
may be telling the truth. The m7% on the other hand when he claims, ‘I am uncertain’ this is a very ‘weak’ claim for we
expect the M2 to know whether or not he borrowed money, his claim of X»w makes him suspect that he is lying.
1 The pri is claiming »132; ‘I know for a fact that the ox killed the fetus because I saw it happen’, and the ox owner
says, [ don’t know I was not there’. The fact that the p*1» was not there, can allow the 11 to lie and claim »2 since he
knows the P>t cannot contradict him; this *32 cannot overpower a X»w especially a 210 Rnw.
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mooIN asks:
= 129933 139N NN AT 90INN 22) (rax Hnnnn M7 0w KNP 97 XN Ka3) PINI WA 9NN ON)

And if you will say; in 1%m1 ws o regarding the case where one says, “this is my
brother’ the rule is he is not believed -

- PYT N PN PON SIINT 709)
And the 723 concludes that the other brother|[s] say, ‘we do not know whether he

1s a brother or not’ -
= 9109 Y119 23N N NYNY T2 9T NI BHIMIN HNT 9INP)

And X271 concludes there, ‘this proves that 2105 P75 519K 928 79771 7792 %9 773%°. This

concludes the citation of that X773, n190N continues with his question -
= 290 )NYY NPYI 9995 1YY 993 29 991099 RNDY Y915 1IN DNN RN P97 929

But how can X271 infer from that ruling that 7"v»7, for there all agree that the Xnpw

1s 7B since the claimant’s 92 is ¥193 and their 82w is good. n1von explains -
= 0NN NI ON 12 1999290 1PN PANNIY YTV

For since the disputed brother knows that the other brothers do not recognize him

whether he is their brother, so he claims ™3, and their 82w is good; how are they to know
that their father had another son elsewhere?!

nBoIN answers:
= 15995WY 1T 1IRYS 9N IN 01N NIY NI ) DNNT 9D U

And one can say that there too it is a 210 *12, for the disputed brother is concerned
perhaps today or tomorrow they will ask and realize that he lied. Therefore it is

considered a 21 2. —

mooIn resolves a similar difficulty:
= 19013 129AN NYPN 99919 NN DN (0w 3,107 97 1pY) NIIYNI N*AN PI93 199

And similarly in 7>°%¥7 noan pap the 7awn states, ‘if he recognized some of his

12 The nwn there on X, 777 states if one says ‘this is my brother’ and therefore is entitled to a share in our father’s
inheritance he is not believed. Let assume there were two known brothers, in which case each one inherits half the
estate (assuming an estate worth six hundred). One brother 12187 says to his brother 1Wwnw that ™ is also a brother so
each one should inherit only two hundred. The rule is that j21%7 is not believed, so 1Ww»w collects three hundred and
12387 needs to give M2 one hundred, since 1287 admits that he is entitled only to two hundred (regarding the other
hundred we tell »Y7, ‘prove to 17wnw that you are a brother and he will give you the other hundred’).
13 The case of the brothers is a case of X221 *3; one brother (as well as the disputed brother) claim >72 that he is a
brother and the others claim R»w, and the ruling is 7"v»1, not 77y "2,
14 mpoIn just taught us that even >"7 who maintains 7°7y 72 will agree by a 210 82w ¥173 *2 that 73"ynn
15 The problem with a ¥173 72 is that we are concerned that he is lying since he realizes that the other party cannot
verify the truth (as in the case of 717197 DX mw MW if the P 1 was not present). However here he is concerned, for even
though that now the brothers do not know, nevertheless this is something which can be verified, so therefore if he
were not sure he would not claim *73, because he does not want to be deemed a liar. See ‘Thinking it over’ # 1.
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stones, he takes them’' -
- 915 5N IO AN NN PIOM)

And the X3 concludes, ‘and the other one what does he claim; ‘I don’t know’ -
= 9109 910 T3 5D NN ININRT INNT NN 1NN RN 9IND)

And the X723 there asks, ‘let this be a refutation of the one who maintains ¥ 7

7792 etc. is MWD, for here (in 7%y M°2n) we see that 7°7v 2. This concludes the X3 -
= 179599 NN 299N 9INT INNDYT ¥HIYN

It appears from that X723 that according to the one who maintains 217 (by 71

"5 772 °%; which is *") it works out well with the X3 in 7%y n°an, but why seemingly
it is a 200 XA Y13 M2 —

mooIn responds:
= 1250 DN PN IPION 1BONAN 9991Y MY 210 93 MHN M 0NN

There too it is a 210 592 because it is usual to recognize stones even if they do not
have a distinctive sign —

mooin offers a proof that the stones are recognizable:
- DYUN YWY 9195 119RY TINNY 20915393 AMAY POY YWIYA 191 50117 BND YNRYUN 19

And it also seems so there, for the X3 establishes the 71wn (which seemingly
rules 7°7Y¥ "12) in a case where there is an involvement of a 7313w between them,

and since he cannot swear he pays. This concludes the 173, 19010 continues -
- 2195w 1195 BYYN KY 199909 MY PN IN)

However, if it would not be common to recognize the stones, the X»w would not

be required to pay, just as the rule is regarding heirs -
= 97159909 MHN XYT 0IVN DHWN YawrH DI 1RY 79N 112 19999N NDT

16 The mwn there is discussing where two people owned a two story house (one owned the bottom floor and the other
the top floor) and the house collapsed, the rule is they share in the stones and wood of the collapsed house, however
if one of them recognized that some stones were his (from his floor) he may take them.
17 The difficulty with this is that in the case of 9y n°a7 it is (seemingly) 210 Xaw1 ¥173 2. Presumably one cannot
recognize which stones are from the top floor and which are from the bottom floor. Therefore the 72 is not concerned
with being contradicted by the X»w. It is therefore a 3173 72 and a 210 XnW.
18 mooin rejects the assumption mentioned in footnote # 17. The 2 assumes that just as he claims to recognize the
stones, the other party may also claim that he recognizes these stones as his, so he is taking a risk by claiming these
stones as his. It is therefore a ¥173 Xnw1 210 12, for the X»w should recognize the stones whether or not they are his.
19 We are trying to explain why we say 7°7v *2 according to the 7" that 7"v».
20 The >72 has an unrelated claim against the X»w for which the 8w is 211n a 72w, The >72 is then 9373 an additional
72w regarding the stones (requiring the Xnw to swear that the stones belong to the X2 and not to the *12). The Rnw
obviously cannot swear, so we rule 2"2°Xwn.
2! The mvn comes to the 2w of the M2 and claims that their father owes him a hundred. The 2w respond that
their father told them about owing fifty; regarding the other fifty they do not know,
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That we do not say by 0°w that 2™ Xwn, since they are not required to know.?
= NAY 99N 91139 292 99N P32 r12) 0N IV

And for this very same reason in the case of the fetus where the 191 claims 393 and

the P claims N»w -
- 1Y 1195 N RYT DHYUN YAWIY 9129 1INV I 1IN XY

We do not say since the P71 cannot swear (regarding the fetus) he should pay; the

reason is because he was not responsible to know (he was not there); however if we would

maintain that even by ¥7°% 7% 7971 X2 we say n"2°Xwn he would have to pay -
= 2379992 NNV NN NNPN NI NNT

Because that X»w 21 is a %'"'2m since he admits regarding the cow —

mooIN asks:
= (x9N 29 HANHND M1 oW 3,3 91 MAINIT XNP P91 NYH YaN

However there is a difficulty in the first 92 of n12yn> noon -
= 259DINI NVINYM 9190 NINNI NON 9INT HNIDM) 12 PNy 29395 INMY ProoT

Where 9812w ruled like 3" (@)= who stated that she is believed to say, ‘I was

forced after the 7019’ -
= 290 Y119 2N N NDNY 7193 5 NID MIRT NN 297 NN AN 9INP)

And »2K said, this ruling of >'"1 who stated 251 Y715 19K %I 7971 7752 5% 722 -
= 269N9910) 1295 PIUT NN HNMWT

Is the ruling of 812w who ruled like 3''1. This concludes the X73. nooI1n continues -
= P93 92 §27Y 593 90N 2EXD 210 NIYI 119X 2937 XN 1IN TONINYI NN 39 RO

But "' and YXw admit that where it is a 2193 592 and a 2y X»w, like regarding
the case of the P11 (by the fetus), that we do not say 1>7¥ 392, rather 7"v»7 -

22 We do not say that the 2w are a n¥pra 77m and therefore are obligated to swear regarding the remaining fifty,
and n"9Xwn, but rather since there is no reason why they should be aware of their fathers affairs (it is a very good
Xnw), they do not pay. Similarly here by the stones if they are not recognizable we would not say n"2°xwn. This proves
that stones are recognizable and therefore it is a ¥173 X1 21w 2. See ‘Thinking it over’ # 2.
23 The ox gored the cow and the fetus is dead. The ox certainly gored the cow, for which the p°1» is liable for; they are
contesting only whether he is also liable for the fetus. This is a case of 2" where the > is 271 a 712w that he did
not kill the fetus and »"2°jwn. However since it is ¥7°7 7°% 717 X2 we do not implement »"2°Xwn.
24 This is amended to read X*>m3 7273 (instead of 9X*%13 12 1WHw *212).
25 The case in the mwn there is when a person married a woman and claimed that she is not a 79102 and therefore he
does not owe her the 72102. She claims that she was forced after the 1°017°%, which gives her the rights to a full 72102
(and she is also permitted to live with her husband [who is not a 772]) since she was an 70X. In this case she is
claiming her 72105 and she is a "7, she knows when she was 72v21. The husband is a X2 he does not know whether
she was 779v21 before the 1°017°X (so it is a Myv npn) and he owes her no 721N, or it was after 01382 101X and he owes
her the 721n>.
26 5xmw rules like 3" that she is believed, for 777y 32; this is the source for the ruling of "3 (by 121 %% 7an) that 57y ™.
27 The statement of 172 9173 973 7T was said by 2X1@ %X 7717 27. See previously in this moon (before footnote # 2).
28 The n"21 M7 amends this to read, >12 1R 897 20 (instead of ™2 MR XY 210).
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= DINY *NN TH3 Y119 1RV 21V TV NI ¥4 11T Y92 on)
And there, in M21n2, her "2 is ‘bad’ and his X»w is ‘good’ for he does not know
at all when she was forced! So why does "X rule that she is believed?!

nBoIN answers:
= P9 X NN INNYT ATINS 297 XN 9INT ANT 99D U

And one can say; that 2R, who stated, ‘this ruling of 77737 29 (that 7>7v »2) is

the ruling of ®Xmw that she is believed (7°7v *92), *2% maintains -
- N 999 9133 9N (3,0 97 nnp x22) TI9D YWD IMINDTI KON 272 9173 Y994

That the statement of XMW MR >"7 of 1972 9173 B9 11, comes to teach us (not that
we say 1"'vni even by X121 72 but rather) as the X7n3 states in the beginning of P79

7757, ‘or you may also say that 172 7172 992 is for this case -
- 3INY O1Y) 993 P193Y KDY 30933 NN MY 99919

Where one sold an ox and it turned out to be a goring ox, that what was meant by

9172 990, but not for the case where the 11 is "2 and the P17 is X»®; in such a case
XMW K " will rule (according to °aR) that 77y *32 and we do not say 1"vnn.

In summation; N1BOIN is now suggesting a new approach that it is possible that (according to "9
XMW R with the understanding of »ax that) the 0°non agree that 57y 72 Xnw) *3, and 7"V is
valid only by >721 72 or Xnw1 °12. This will answer all the questions without resorting to distinguish
between Y173 X1 210 72 or 10 XKW Y173 *12; in all cases 7°7Y *12 (even according to the 1127).

nvoINn asks:
- 33559553 1397 N>DD 32MAIN92 SNTT 23 YY N YINN ON)

And if you will say; even though that in m31n2 noon the X773 rejected that 329
bRISMAA maintains 777V 12 KA ™3, but rather there are other reasons why "9 maintains that she

29 5R1MW MR AT 27 stated 7"y 172 9173 992 71 2R 0707 92K 01910 2127 1. However HRX1mW InR "1 never explained
what they meant by saying 172 2173 993 171. The X113 there offers two interpretation what was meant by saying 2173 992.
One which we discussed till now that 7"v»7 is valid even by X»w1 »72. However there is another interpretation what
SR MR "1 meant when he said 7173 995 (which m2oIn mentions immediately), and *ax agrees with the second
interpretation, so that YR1w R >"1 never meant to say that 7"v»1 is valid even by Xaw1 >72. On the contrary according
to ™K the rule of 71"y is not valid by ®aw 12 according to 2R MR "1 (only by 121712 or kAW KAWY).
30 The case there is where one bought an ox and it turned out to be a J133. The buyer wants his money back because
this ox is unfit for plowing, however the seller said, ‘I assumed that you wanted it for meat (to slaughter it) for which
it is perfectly suitable’. The rule is 7"¥n77 and the seller need not return the money. This rule is valid even if a majority
of people buy oxen for plowing, nevertheless the rule of 7"vni overpowers the rule of 217 (for 2177 IR 11N 1937317 PR).
According to this explanation of 9173 993, the rule of 7"via71 has nothing to do with X»w1 12,
31 According to this view the case of 77977 NX MW W is either by ™21 ™2 or AW X»Ww, but not by X»w1 2.
32 The X there states that she is believed either because she has a 1 (to claim "X ¥ now), or she has a 72 npm, vy,
33 Therefore even though X1 ruled that 3"23 71997, that does not prove that he maintain 7°7y >3 Xaw1 12, because it
is possible that she is believed for the reasons mentioned there (see footnote # 32) but not because of 777y »2.
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1s believed -
= (0w X, 97 Mav) PYAYIN 3 P92 91D HIRT NN HNINYI 297 #0119 297 NN INON

Nevertheless, we still must assume that the ruling of 3" (that 7>7v »72) is based on

bR, for YR 27 maintain in Py ®s pop -
= DYWN YaWrY D192 1IRY TINN 12299 NYT

That we do not say %" 8w, but rather the yaw>> 2 is Mo -
=290 Y79 2N MMIN NI 7102 %Y NINA 92D )5 DN

Therefore they maintain in the case of ¥719 99K 928 7971 77°2 9 712 that he is 257 -
- NONT PPN 579 SWPN 397 INY INT
For if not so (but they maintain 13"v»77) then X1 27 will have a difficulty with

our mwn here which maintains 7°7v >12 -
= 375pWr975 3¥0nyra Ny 7Oy Vvl WY 8N NIT

For they cannot answer (as 7211 27 did) that there is an involvement of a 72w
between them, as I just explained, for they do not maintain »">>xwn.

nBoIN answers:
= D17%2 NAY POY YIYI NNPPINT 1212519 339109 959 99207 91219 v

And one can say; that X121 27 can properly maintain that by w™2 the &nw is
Tup, and our 7w which we established that there is an 2775192 YW POy -

= PYWN 122 XD 0NV 122 YI9TT 37DNN MIN 29 2NT NNIIS
Is like the &n>92 which X' cited there where the Xn*72 expounds the 109 of 2

34 The n"2n MAx1 amends this to read N°R YXAWY 277’17 PR1™WT 777 (instead of NPXT X7 YR 217 7717)
35 The n"an MAx1 amends this to read 7% (instead of 719).
36 "3 (who maintains 7"vn77) explained our mawn that the reason the 2XW is 211 is because the 2XW ‘owed’ the 2 Xwn
a 712w (in another matter) so the 2°Xwn can be 7373 on the XW a 712w that 7n» 7MW and »"Rwn; that explains
why the PR pays. However according to 7X%w1 21 who maintain that we do not say n"2&wn. Why does the 7Xw pay;
it must be because they maintain 77y »2.
37 mpoIn question is why did the X713 reject s'ax statement that X°77 9XWT "7 X7, granted that we cannot prove it
from 3", but we can prove it from our 73w» where 2X1mw will be forced to maintain 7°7¥ 32, so ¥ PRMWT "7 R7!
38 ™A can maintain 7Y *12 X7, but rather 7"y,
3% In my1aw noon.
40 The 77 writes (°,20 [2°vown] Mmw) that omaw P2 a0 ' naw. The Xn™12 of "aR 27 expounds this P105 to mean
that only the principals are required to swear (by nxpna 77n for instance) but not the heirs. The X3 explains this
w7, we cannot be discussing a case where both heirs (the claimant and the respondent) are *72 (the claim is for a
hundred and the admission is fifty), for why should they not swear. We must say that the 2°wav of the m> (admit to
owing fifty, but) do not know about the other fifty. The n™n teaches us they are not obligated to swear. This
accomplishes that we do not say n"2°®wn in this case, since they are not obligated to swear on account of this w17 of
WA 172 89 077w 2. This interpretation is fine if we generally maintain n"2°Xwn, however here the 2w are wd
since they have no 12w 2rn. However if we always maintain that we never say n"2*&wn (like w"17) what is the 108
teaching us that they do not have to swear, what difference is there if they are 712w 21» or not since in either case
they will not pay. This proves that those who are 2°wW17 2w 1°2 8?1 0P "2 W7 maintain the rule of n">>Xwn. This
is the view of our mwn.
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amw (between them) to mean but not between the heirs; this is what our mwn

maintains -
= ONNTI 211990 )2 PYNY 229 NINTI 102V JY NON NMAYNY DNNY )2 *HYIT INIIN)

However X121 11 expound 2:7°w 392 to mean that the 72w is upon both of
them (the y°awn and the vawi) as v"'2 w'" taught, as the X3 states there*.

n1voIN asks:
= AN ONNN NNPNI NN S5SNIV ND 739 NI4T 732 29097 HHNINYI 29Y 99NN ON)

And if you will say; according to »X1w 29 who exempt the X»W in a case where
he states, ‘I know I owe fifty, but the other fifty I don’t know’, why is every n''2m

=277 a IYRw -
= YT 20N 92N ¥ INT 1N 9919V 1192 YAN) ND?

Let him be believed in that which he denies (namely the other fifty) with a won»

for if he wanted he could have said, “I do not know’ about the other fifty, and then he
would be 15 according to w"17?!

nBoIN answers:
$PPNINNA BYYIINDTI YT 23N 1IN WV DTN PNRT 9917 U

And one can say that it is not a good 13’ for a person does not willingly claim, ‘I
don’t know’, as I explained in the 71w,

Summary
77177 27 maintains 7°7¥ *12 only in a case of ¥173 Xxwy 210 72, Alternately (according

to »aR) there is no difference and in all cases *"2 and XMW maintain 5>7¥ >3,

Thinking it over
According to the vws that > maintains 7>7V >3 only by a ¥173 X»w1 230 12, but not

by a x»w1 ¥173 12;*” what will >3 maintain by a 23 a1 210 °72 (or by a ¥173 12
Y173 Rnw1)? Do we require both a ¥173 X»w1 210 °72 to say A7V *72 or only a 2w "2
(or ¥ RAWw) 2?48

41 5%mw7 27 are not w7 like *aX 27 (which would force them to maintain n"2°Xwn), rather they are w17 like 0"2 w".
42 3v% myaw. See *"w1 there 1w Yy 1"7 who writes; W 2197 7% X2 7AKI 72 AR NoRk PIPT ROW A2 PRIV TIRY.
43 2,7 mymaw. The X7n3 states there clearly that PX1mw3 27 follow u"2 w"4, but not "X 2.
4 We are now assuming that w"17 can maintain 7°7v 32 > but rather 7"v»7 (see footnote # 38).
45 5R1mw1 21 both maintain that we do not say n"2>8wn. Therefore since he cannot swear, he is 7105,
46 See 012 117 '0n on the 'R Ty [TIE footnote # 32 & 33].
47 See footnote # 15.
4 See p"w ",
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2. npoIn proves that in a case where the ¥an1 is not responsible to know (like by the
stones) we do not say »n"2°Xwn, from the case of 2w .* We may however be able
to distinguish between the two cases; by the w11 since they are not obligated to
know (about the other fifty), there never was a 1312w 21°11 on them and therefore we
obviously cannot say n"?&wn. However by the stones there was already an poy
712w, and on account of 71373 there is a 7312w 211 on the stones (just like there is a
72w 2vn on any P93 [which inherently does not require a 1¥1aw]), therefore
perhaps the rule of n"2°Xwn would apply in this case!

4 See footnote # 22.
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